Virginia High School League

Scholastic Bowl, 2001-02 season

District Competition, Match #1

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine and Bryce Avery are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1. 
Describe in terms of sides and angles (e.g., right scalene) a triangle with two sides equal to 6 and their included angle equal to 60 degrees.

ANSWER: ACUTE EQUILATERAL
2.
It was first exposed by the Lebanese magazine al-Shiras on November 3, 1986. TOW missiles and other weapons were sold to try and win the release of US hostages in Lebanon, and the proceeds were used to circumvent the Boland Amendment and fund anti-Communist guerrillas in Nicaragua. What was the name of this scandal that harmed the Reagan administration during its last two years?

ANSWER: IRAN-CONTRA
3. 
What former Bond villain from A View to a Kill was one of the most decorated performers at the 2001 Video Music Awards for his unorthodox dance routine in the video for "Weapon of Choice"?

ANSWER: Christopher WALKEN
4.
Which basic law of physics is stated: “An object moves with constant velocity unless acted upon by a net external force?”

ANSWER: NEWTON’S FIRST law

5.  
He also wrote a series about life on the Red Planet, including A Princess of Mars and Synthetic Men of Mars, but which American author is best known for his over twenty novels about jungle-man Tarzan?

ANSWER:  Edgar Rice BURROUGHS
6.  
In this work, individual freedom is explained as a value in and of itself, a feature of a mature society, and not just a necessary means for utilitarian government.  What is this classic defense of liberalism by John Stuart Mill?

ANSWER:  ON LIBERTY
7.  
One of them becomes inactive early in the development of a female embryo.  What name is given to the larger of the two sex chromosomes?

ANSWER:  X CHROMOSOME
8.  
His companions include Peto, Nym, Pistol, Bardolph, and Prince Hal, and they all congregate at the Boar’s Head Tavern.  Appearing in three plays, who is this most famous comic character created by William Shakespeare?

ANSWER:  Sir John FALSTAFF
9.
What type of variables have a value of a memory address instead of the traditional datatypes?

ANSWER: POINTERS
10.
The 1892 campaign marked the entry of what party against the Republicans and the Democrats, whose candidate was James B. Weaver?

ANSWER: POPULIST or PEOPLE’S party

11.  
Which contemporary of Shakespeare wrote the plays “Edward II,” “Tamburlaine the Great,” and “Dr. Faustus?”

ANSWER:  Christopher MARLOWE
12. 
What is the remaining internal angle in a pentagon with four angles equal to 100 degrees?

ANSWER: 140 degrees

13.
After Susquehanock Indians raid several Virginia settlements in 1675 and 1676, then-Governor William Berkeley refused to allow a punitive expedition against the Indians. This man, a member of the House of Burgesses from Henrico County, disobeyed Berkeley, defeated the Indians, and then forced Berkeley out of Jamestown. Who was this man who led a famous “rebellion?”

ANSWER: Nathaniel BACON (accept Bacon’s Rebellion)

14.  
He was saved when his mother Rhea gave his father Cronus a swaddled stone to swallow.  Raised in Crete by the goat Amalthea, who took revenge on the Titans, winning an epic struggle to become king of the Olympian gods?

ANSWER:  ZEUS
15.  
What nine-letter “V” term is given to an organ, such as the appendix, that remains in a diminished state after it has ceased to have any significant function in an organism?

ANSWER:  VESTIGIAL organ

Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.
1A.
What war was started when Frederick the Great invaded Saxony in 1756, was known in the Americas as the French and Indian War, and was named for its length?

ANSWER: SEVEN YEARS’ WAR
1B. 
What anion, when combined with mercury, creates a highly unstable compound that is used in blasting caps for detonation?

ANSWER: FULMINATE
2A.  
Perhaps El Greco’s most pure landscape painting was a tempestuous “view” of what Spanish city, where he took residence for the last thirty-seven years of his life?

ANSWER:  TOLEDO
2B.  
So that she could help her friend at the fair, who wrote “terrific” and “some pig” to describe Wilbur on her webs?

ANSWER:  CHARLOTTE (Charlotte’s Web)

3A.
What is the collective name given to the effects that occur when two or more light waves overlap to give an irradiance that is different from the sum of the component irradiances?

ANSWER: INTERFERENCE
3B. 
Give the term for the type of row combination algorithm which is often used to convert a system of equations into their solutions using matrix arithmetic.  

ANSWER: GAUSS-JORDAN elimination

4A.  
Henry Tilney’s father invites Catherine Morland, who is already obsessed with Gothic novels, to what title residence in a Jane Austen work?

ANSWER:  NORTHANGER ABBEY
4B.
Who was the leader of Athens during its Golden Age, and whose untimely death by plague in 429 BC led to the defeat of Athens in the Peloponnesian War?

ANSWER: PERICLES
5A. 
A trapezoid has base lengths of 7 and 15 and a height of 9.  What is its area?

ANSWER: 99
5B. 
Name the offbeat comedic duo of characters -- played by Jason Mewes and a speechless Kevin Smith -- who "struck back" in a movie released in August 2001.

ANSWER: JAY AND SILENT BOB
6A.
Louis VII of France and Henry II of England were her husbands. John and Richard I were her sons. Who was this woman, the duchess of a large region in southwest France?

ANSWER: ELEANOR of Aquitaine

6B. 
Muriatic acid is another name for what compound, a highly acidic diatomic molecule often used to make a stock acid solution?

ANSWER: HYDROCHLORIC acid or HCl or HYDROGEN CHLORIDE

7A.  
He wrote 450 concertos, many for the La Pieta girls’ orphanage where he taught.  Who was this priest and composer who gained success in 1725 with his set of four concertos known as “The Four Seasons?”

ANSWER:  Antonio VIVALDI
7B.  
Who satirized American democracy in Martin Chuzzlewit, started the book The Mystery of Edwin Drood in the style of his friend Wilkie Collins, and also wrote Nicholas Nickleby?

ANSWER:  Charles DICKENS
8A.  
Most land animals that develop in a shell excrete what nitrogen-containing waste substance, which when not removed properly can cause gout and kidney stones?

ANSWER:  URIC ACID
8B. 
What term is given to the points on a graph where the second derivative of the function is equal to zero, but the third derivative is not?  

ANSWER: INFLECTION points

9A.  
Which science fiction author completed the Foundation tetralogy of novels?

ANSWER:  Isaac ASIMOV
9B.
As part of the Compromise of 1850, the slave trade was abolished in what slaveholding area?

ANSWER: DISTRICT OF COLUMBIA or Washington DC
10A. 
What is the determinant of the 2x2 matrix with top row of 6 and 5 and bottom row of 11 and 9?  

ANSWER: -1
10B.  
Raphael and Greco-Roman antiquity both influenced what seventeenth century French Baroque painter of Landscape with a Snake and The Golden Calf?

ANSWER:  Nicolas POUSSIN (poo-SAN)

Third period: 15 tossups
1. 
If a quadrilateral has four equal sides, then what is the most specific term by which it can be called?

ANSWER: RHOMBUS (Shame on those who say square!)

2.  
With his father Terah, he first emigrated to Haran in northern Mesopotamia, and then he took his family, including Lot and Sarah, to Canaan, where God promised him land.  Who was this first patriarch and father of Ishmael and Isaac?

ANSWER:  ABRAHAM or ABRAM
3. 
The elements with triple digit atomic numbers are known collectively by what name given them due to their location beyond Element 100?

ANSWER: TRANSFERMIUM elements

4.
A very short haircut. A whip used in riding. Or, the produce from a garden. What four-letter word can be used for all three?

ANSWER: CROP
5.
What name is given to a business transaction, classed into “puts” and “calls”, which allows the holder to buy or sell shares of stock at a fixed price at some point in the future?

ANSWER: OPTIONS
6.  
The blocking variety can bring hot summers and severe winters, because it prevents the normal air circulation of an area.  Also known as a high pressure system, what area features winds blowing clockwise in the Northern Hemisphere, the opposite of a cyclone?

ANSWER:  ANTICYCLONE
7.  
Uncas helps foil the schemes of Magua in what book that also features Alice and Cora Munro, as well as Natty Bumppo, a famous work by James Fenimore Cooper?

ANSWER:  THE LAST OF THE MOHICANS
8.
He committed suicide after being implicated in the Hitler assassination plot. He was in command of German forces opposing the Allies at D-Day. Who was this German general who was most famous for exploits in North Africa, where he earned the nickname “The Desert Fox?”

ANSWER: Erwin ROMMEL

9. 
If y varies directly as x and inversely as z, and y equals 5 when x equals 10 and z equals 24, find the ordered pair (x,y) that occurs when z = 30.  

ANSWER: (8,4)
10.
Among the things offered in this bill are a right to sue HMO’s and other healthcare providers for wrongfully denied coverage and a right to get more information on the running of your HMO. What is the name given to this bill that Congressman Charlie Norwood helped President Bush pass in August?

ANSWER: PATIENTS’ BILL OF RIGHTS
11.
What type of schizophrenia is exhibited by immobility and/or marked muscular rigidity?

ANSWER: CATATONIC or CATATONIA
12. 
What term is given to a cross between a line and a segment such that one end is fixed while the other extends infinitely?

ANSWER: RAY
13.  
Completed in 1788, what forty-first and final symphony by Mozart is named after the Roman king of the gods?

ANSWER:  “JUPITER” Symphony

14.  
When placed in a sugar solution, its cells multiply and convert the sugar into carbon dioxide and alcohol, thus it is used as a fermenting agent.  What is this single-celled fungus also utilized for making wine and baking bread?

ANSWER:  YEAST
15.
What part of speech does the clause in the following sentence serve as? I do not know when he will get home?

ANSWER: ADVERB or ADVERBIAL clause

SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.
What Virginia county is the smallest in land area?

ANSWER: ARLINGTON
Along with Pat Robertson, what Lynchburg-based minister received widespread condemnation for blaming homosexuality, abortion and the ACLU, among other things, for the September 11 bombing?

ANSWER: Jerry FALWELL 

What word comes from the diminutive form of the Spanish word for fly?

ANSWER: MOSQUITO 

So that sea captains could gauge the amount of sail that a full-rigged ship should carry, what Royal Navy admiral and hydrographer developed a scale for winds, ranging from calm to hurricane?

ANSWER:  Francis BEAUFORT
The sum of the elements along the main diagonal of a square matrix is known by what name that implies following the line down the diagonal?  

ANSWER: TRACE
All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


